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vEif;s~dvEif;s~dvEif;s~dvEif;s~d O :gfts 5njl vEif;s~d (B.A./B.Com.) 

gm\w6l g\az O     
5f9is~d5f9is~d5f9is~d5f9is~d O dfgjLjNfvm vg[ ;dfhLj7fgmdf\ a]Lgifnl vEif;s~d (FHS-01) 
TffzlbTffzlbTffzlbTffzlb     O 24/04/2011 

;di;di;di;di     O 11.00 to 2.00 

;}rgf;}rgf;}rgf;}rgf     O (1) awfh 5~Ègmgf hjfa vf5jf ozÔift k[p  
   (2) 5~Ti[s 5~Ègmgl ;fd[ t[gf u]6 nxf"j[, k[p            s], u]6 O s], u]6 O s], u]6 O s], u]6 O 70 
 
5~ÈgOV1 ;\:s'Ltgf Ljsf;gf L;êf\tm ;dhfjmp      (14) 

vyjfvyjfvyjfvyjf    

  SvF xc[zl s~f\Ltgm vy" :5q8 szmp      (07) 

  SaF 7fg vg[ ;dfh Ljx[ gm\w ,bmp      (07) 

5~ÈgOV2 ;fd\tjfnl Jij:yfgm Ljsf; ;dhfjl t[gl 50tl df8[gf sfz6mgl  

rrf" szmp         (14) 

vyjfvyjfvyjfvyjf    

 SvF vf{NmLus s~f\Ltgf d]Bi ,1f6m h6fjmp     (07) 

 SaF efztli vfimhggf Pü[xm h6fjmp     (07) 

5~ÈgOV3 j:tl vg[ Ljsf; jRr[gf vf\tz ;\a\wm h6fjmp    (14) 

vyjfvyjfvyjfvyjf    

 SvF ;Ljgi sfg}ge\u r/j/ Ljx[ gm\w ,bmp    (07) 

 SaF :jt\Ê efztdf\ 7fLt vg[ zfhsfz6 jRr[gm ;\a\w ;dhfjmp  (07) 

5~ÈgOV4 SvF efztli ;djfit\Êgl LjLxq8tfvm nxf"jmp    (07) 

 SaF ‘PDS vg[ ;fdfLhs s<if6’ - ;dhfjmp     (07) 

vyjfvyjfvyjfvyjf    

 SvF LjÈja\w]Tj vg[ xf\Lt Ljx[ dfLctl vf5mp    (07) 

 SaF 5if"jz6g[ 5~n}Lqft sztf\ 5Lza/m h6fjmp    (07) 

5~ÈgOV5 8}\sgm\w ,bmp Sud[ t[ a[a[a[a[F       (14) 

 S1F dfgjtfjfn 

 S2F efztdf\ PRrtz Lx1f6gl ;d:ifvm 

 S3F ;fdfLhs hL8,tfgm Ljsf; 

 S4F efztdf\ :Êlvmgm nzáhm  

 S5F dcf;ÿffvm vg[ j{LÈjs ,Xszl Jij:yf 
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vEif;s~dvEif;s~dvEif;s~dvEif;s~d O :gfts 5njl vEif;s~d (B.A./B.Com.) 

gm\w6l g\az O     
5f9is~d5f9is~d5f9is~d5f9is~d O Lj7fg vg[ 5~f{NmLusldf\ a]Lgifnl 5f9is~d (FST-01) 
TffzlbTffzlbTffzlbTffzlb     O 23/04/2011 

;di;di;di;di     O 11.00 to 2.00 

;}rgf;}rgf;}rgf;}rgf     O S1F hd6l afh]gf\ vf\s0f 5~Èggf\ u]6 nxf"j[ k[p 
  (2) awfh 5~Ègm ozLhift k[p    s], u]6 O s], u]6 O s], u]6 O s], u]6 O 70 

 
 
5~ÈgOV1 SvF bf,lhUif 5}zmp        (14) 

(1) ______ i]udf\ b[tlgl xÍvft y. ctlp 

(2) ______ v[s L;bfP 5~Tif3ft k[p 

(3) ______ r[tft\Êgm d]Bi efu k[p 

(4) Effztdf\ ;f{yl dm8l 5[åmL,id zlof.gzl _______ xc[zdf\ vfj[,l k[p 

(5) ______ u~cgm vfsfz zsfal h[jm k[p 

(6) d[,[Lzif zmu ______ yl o[,fi k[p 

 

SaF Lj7fggl ;fdfLhs hjfanfzlvm ;dhfjmp 

vyjfvyjfvyjfvyjf    

  SvF glr[gf hm0sfvmg[ um9jmp 

  (1) 5\rxl,  V ÍLwzdf\ s[L<xidg]\ 5~df6 jwfz[ k[p 

  (2)  hcmgs[%,z V  ;]s6m" 

  (3) 8l8fg  V hd"g bum/xf:Êl 

  (4) sf,lnf; V xLggm P5u~c 

  (5) vfi"eç V xf\s]t, 

  (6) 5[zfymdm"g V efztgf dcfg bum/xf:Êl 

   

  SaF vfLndfgj Ôjggl ;fdfLhs Ljx[qftfvm h6fjmp 

 

5~ÈgOV2 SvF dWii]udf\ tsLgsl ;fwgmgm yi[,m Ljsf; ;dhfjmp   (14) 

  SaF ;f{z s]8]\a Ljx[ ;dhfjmp 

vyjfvyjfvyjfvyjf    



   

SvF d\u/ u~c Ljx[ gm\w ,bmp      

  SaF h\u, Ljgfxgf sfz6m h6fjmp 

 

5~ÈgOV3 SvF cjfg]\ 5~n]qf6 ;dhfjmp       (14) 

  SaF vjsfxl 8[sgm,mÔ Ljx[ gm\w ,bmp 

vyjfvyjfvyjfvyjf    

  SvF smD%i]8z 8[sgm,mÔ vg[ t[gf sfim" ;dhfjmp 

  SaF gjm vf\tzzfqåli Ljsf;s~d ;dhfjmp 

 

5~ÈgOV4 SvF s]nztl ;\5Ltgl xmwbm/ df8[gl zltm h6fjmp    (14) 

  SaF ŒŒÖLq8 acfzgf u~cmCC Ljx[ gm\w ,bmp 

vyjfvyjfvyjfvyjf    

  SvF b[tlgl d]Bi hÍzliftm h6fjmp  

  SaF Lgj;gt\Ê Ljx[ ;dh}tl vf5mp 

 

5~ÈgOV5 8}\sgm\w ,bmp Sud[ t[ Ê6F       (14) 

(1) vf{NmLus s~f\Lt 

(2) i\Ê dfgj 

(3) :jft\…I r/j/gl v;zm 

(4) h/rs~ 

(5) ;fdfLhs ;\u9g 
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vEif;s~dvEif;s~dvEif;s~dvEif;s~d O :gfts 5njl vEif;s~d (B.A./B.Com.) 

gm\w6l g\az O     
5f9is~d5f9is~d5f9is~d5f9is~d O u]hzftlgm vfwfz 5f9is~d (FGT-01) 
TffzlbTffzlbTffzlbTffzlb     O 23/04/2011 

;di;di;di;di     O 03.00 to 04.30 

;}rgf;}rgf;}rgf;}rgf     O S1F awfh 5~Ègmgf hjfa vf5jf ozLhift k[p 
   S2F 5~Ti[s 5~Ègmgl ;fd[ t[gf u]6 nxf"j[, k[p  s], u]6 O s], u]6 O s], u]6 O s], u]6 O 35 
 
 
5~ÈgOV1 uf\wlÔv[ xlbj[,l s. afatmg[ vg];zjf ,[bs efz5}j"s  

h6fj[ k[ M         (10) 

vyjfvyjfvyjfvyjf    

  ŒLjÈjfTd{siC v[8,[ x]\ M LjÈjfTd{sigl efjgf sifz[ L;Ww y. u6l  

xsfi M 

 

5~ÈgOV2 sf/]\ hutdf\ e}\0fdf\ e}\0]\ smg[ u6[ k[ M xf df8[ M    (10) 

vyjfvyjfvyjfvyjf    

  :Êlvmgf\ 5zd st"Jim v\u[gm j\h],gm Bif, sim k[ M Ljut[  

rrf" szmp 

 

5~ÈgOV3 8}\sgm\w ,bmp Sud[ t[ Ê6F       (15) 

1. 8lp v[gp 8lp v[8,[ x]\ M 

2. tT;d xAn4 tn=ej xAn4 v\uls't xAn 

3. ,[bsgl ÖLq8v[ u~fd5\rfitg]\ gj]\ :jÍ5 

4. j'1f v[8,[ 3ztlg]\ ;\ult 

5. JiLst vg[ ;dfhgf 5z:5z ;\a\wm 

6. 5ÊsfzTj ,msdfg;g]\ 30tz s\. zlt[ szl xs[ M 
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Time     O 04.30 to 06.00 

N.B.     O All questions carry equal marks   Total Marks O  O  O  O 70 
 
Q.1(A) Read the passage carefully and answer the following questions. (07) 

 
The claim that Britains’s main contribution to human progress has been 

the development of this idea of political democracy is one that might be 
readily substantiated. It is perhaps natural that those who like ourselves 

have been brought up under a democratic system should regard it as the 

type of political organization most likely to develop in other countries. 

The history of makind, however, gives little support to this idea. Some 

form of dictatoeship would seem to develop more easily in the 

organization of national bodies and those of us who can look back to the 

Great War will remember how shallow were the roots of some of the 

‘democracies’ which arose then and how easily they swung round to 

dictatorship. The truth is that of all forms of government a democratic 

form is the most difficult to maintain; freedom of speech and of 

organization, freedom from arbitrary arrest and imprisonment – these, the 

distinguishing features of democracy, are frail plants, only too easily 

uprooted in the storms of internal strife or external danger. The prolonged 

maintenance of a democratic system may be regarded, too as, continued 
triumph over the nature of mankind. Democracy means the free exchange 

of opinion, the surrender to the will of the majority even when we think 
the majority wrong, tolerance and open-mindedness-qualities that demand 

a subjection of the passions and a standard of civlised living which is 
poles apart from the rule of the rubber trumcheon. Another weakness of 

the democratic system may be regarded, too, as continued triumph over 
the nature of mankind. Democracy means the free exchanges of opinion, 

the surrender to the majority even when we think the majority wrong, 

tolerance and open-mindedness-qualities that demand a subjection of the 

passions and standred of civilized living which is poles apart from the rule 

of the rubber trumcheon. Another weakness of the democratic system, 

paradoxical though this may seem, is inherent itself. Democracy demands 

absolute freedom of opinion, and this claim, if it is perfectly realized, 

means that those who oppose democracy and seek to overthrow it have 

rights of expression equal to those of its supporters. In such circumstances 

even the stoutest democrat might be forced to accept compromise. The 

practicable might have to be preferred to the ideal. 

 

1. ‘The history of mankind gives little support to this idea’ – What idea ? 

2. What are the distinguishing features of democracy ? 
3. Why does the author call them ‘frail plants’ ? 

4. Why is a democracy difficult to maintain ? 
5. What weakness of democracy is inherent in itself ? 

6. What sort of compromise does the auther see ‘even the stoutest democrat’ as 
being forced to accept ? 

 



 

 

 

(B) Match the words in colum ‘A’ with their synonym in column ‘B’.  (05) 

 

‘A’ ‘B’ 

Perish Use 
Environment Die 

Obvious Surroundings 
Utilize Apparent 

Accumulate Store 
 

Q.2 (A) Fill in the blanks with the correct Formof verbs ‘Be’ :-   (05) 
  1. The cattle _______ grazing in the field. 

  2. One of the birds _______ Flying in the opposite direction. 

  3. Last evening, they _______ walking in the garden. 

   4. There _______ many people in India even now who cannot  

read and write. 

5. I ______ surprised to meet Raj yesterday evening. 

 

(B) Fill in the blanks choosing the correct verb form the bracket in their  

appropriate forms. [hand, report, spot, remedy, despair]   (05) 

 1. Surajkund is a popular picnic ________ in Haryana. 

 2. A bird in _______ is worth two in the bush. 

 3. The rejugee’s _______ of ever seeing his Family again filled  

us with pity. 
4. The discovery of new planet has been ______ in Today’s papers. 

5. The _______ seems more painfull than the disease. 
 

Q.3 (A) Rewrite the following sentences in the passive voice:-   (03) 
  1. She watches T.V. 

  2. They visited London last year. 
  3. I have finished my homework. 

  

(B) Write an essay on one of the following in 200 words:-   (05) 

1. Our Festival 

2. Terrorism 

3. Unemployment 

 

(C) Write a dialogue in not more than 150 words on any one:-   (05) 

1. Election 

2. To err is human. 

3. Save Girl child. 

 


